Письменно. 

  1.Возвести в степень: 

 = а²в²;  =16с²;  = -с³;  =8х³с³; = 9mn ; = [image: image2.png]15



 ; =27[image: image4.png]15




 2.Упростить: 

 а) =[image: image6.png]17



     б) = [image: image8.png]36



     в) =[image: image10.png]21



 

 3.Вычислить:

 а) =16    б) =25    в) =256

 4.Найти значение выражение: 

 =-1

Тест.  1в;   2в;   3а;   4б 

Самостоятельная работа.

       Ι вариант                  ΙΙ вариант

1. а) =31  б)= 0                           а) =12  б) =-2

2. =32                                          =27

3. а) =с²;  б) =[image: image12.png]13



;  в)=16[image: image14.png]


     а) =[image: image16.png]


; б) =[image: image18.png]


;  в) =49у² 

4.  а) =1000  б) =1         а) =625 ;  б) =1

5. [image: image20.png]24



                                   [image: image22.png]60



 

